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Period:

STAAR Review — Algebraic Thinking

Scatterplots

A dentist made the scatterplot balow to show the number of avities hor patients had as &
relales to the number of tinoe they flossad thelr teeth eadlt weelk,
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Vhich of the follawing best describes the correlation for the data?
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A | Posfive correlstion

B Noniinsar correlation
The scatierpiet shows the numaber of free throws that differant baskeiball playvers atternpriad
ang the number that 2ach player made.
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The einciyal of e schoo wenis 1o use this hiforsadon to help him dotermine ihere s &
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Solve Equations by Intersections

To find the solution to an equation with variables on hoth sides, graph both sides of the equation and lock for the
Intersection paint. When solving for x, the sclution is the x-value of the intersection paint.
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Whith of the following graphs best represents & sygtem of aquations that has no sohudion? .
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5_ Fir_i'd_i_ng the slope and y-intercept of a line

The graph betew shows e reiaticnship between e mumber of doliars & worker zms and
the number of hours worked. M o o
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Thz graph shows the Hores i woak & worker @ peckane 16 bottles F shampoo.
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What is the slope of the line?

What is the y-intercept of the lne? & O ¥ BN
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Based on the dats n the table, what ic the total mmber
when the Jshwasher is sed 9 ilmes? |
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e we}ght'of the bar without any plates is represented by the y-intercept, what is the weight of the bar?
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Which table shows the Same Fate of change of y with respect 0XAS y = 4‘? Tech Tip:

Slepe. = For each of the answer
T choices, type the tablain 2

. h ~ p | preadsheet .

rf’:: LEE“J:LLD Lf ) - - {New Document and then

Y = choose Lists and
Mo Spreadsheets.)

Insert Page and chogse
Data and Statistics page.

To find the equation, go to
Menu ~>Analyze >
Regression = Show Linear
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Three friends were studying for their math test. They each had different ideas about how o 5B

own below.
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Slope = — and y-intercept = 6,751
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Write and Solve Equations

For each word problem, write an equation and then solve the equation.
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Asmf&nt bought coReert
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graph, and mapping are all different views of the same information.

that are on the grapd of the fumedion

[ Tech Tip: \

Graph the equation.

Use Cirl Tioview the .
table to se which fist of -
points is the answer.




18. Pointsong.
WHICE representation shows the some Teltionship =5 gix = %{6&' L33 Eount the slopa
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Graph the equation. e
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Use Ctrl T to view the
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points is the answer.
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Direct Variation (Proportional Situation) _ ‘?* 3
Ify varies directly witty x, it means y is propertional to x, Writ: . ;;: fite Equations
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Count the slope of the line and continue In the same pattem.
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Isita Function?

| hre the x-values unique? If yes, the data represents a function.

ces the graph pass the verticat fine test? if yes, the data represents a function.
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